

$$55 : (-11) + 15 =$$

$$-100 : 25 - 30 =$$

$$78 : (-39) - 41 =$$

$$5 - 6 \cdot 3 + 7 =$$

$$2 + 11 + 66 : 11 =$$

$$4 \cdot 66 : 11 + 12 =$$

$$-2 \cdot (-8) + (-10) =$$

$$15 - 3 \cdot (-6) =$$

$$-64 : 5 - 23 =$$

$$37 - 128 : 4 =$$

$$-32 : (-4) - 6 =$$

$$-25 \cdot (-16 - 24) =$$

$$-95 \cdot (0 - 20) =$$

$$-5 \cdot 8 + 14 \cdot 8 =$$

$$-6 \cdot (-3) + 85 : (-5) =$$

$$(24 - 36) : (-6) \cdot 3 =$$

$$15 - (4 + 8 : 2) - 2 =$$

$$-50 : 10 + 8 \cdot (-4 + 9) =$$

$$3 \cdot 6 - 4 \cdot (-7) =$$

$$12 \cdot (-2) - 11 + 2 =$$

$$(-96) : (-4) + (-9) - (-11) =$$